@ 3.14

® o0

@ 1.52

O -2



2. U2 F AL AL T T2H?

@® 1.2333333 ® 1.4353535- - ® 0.31243124---

@ 3.141592 B 0.27398465 - - -



@ x6y3 @ x7y5 @ x8y6 @ x12y6

@ x4y5



52241

4x

—%I-I-l

—x2+aj—3

—322+30

—32%+61—1




5. ©Wo 7tz o] dol7t 2¢ &1 AAZRP ] WolTt 4a® - 2a%h 4 T,
Alz o] dol=?

® a’-a @ 242 +a @ 2a%2-b

@ 242 = ab B 242 + ab



17 (1,-2) & ™, a9

S|

4x—ay-12=10 9

Al
=1

.._.
X0
)

H

27}

@ 2 B 4

A 1









A (5a% = Ta+ 4) — (11a® + 2a — 3)-= Fds| 5}FH?

® -6a%-5a+1 @ -6a>-9a+7 ® —6a%+9a+1

@ 16a%2-5a-17 G 16a2 —Ta+1



T oy 7T
T 5

&4

ol

i)

—

Plo

ol

I
o°

® A7, o

@ A7), AR



a n b n c
ab+a+1 bc+b+1 ca+c+1

11. abe=1 4 o,
ol g},

YR
=%

o gre 7ot



12. 04§ 170 HNZFeIN AP 22 sarp.

ol S & a, bol T Aoz LEhd A27 u

-
a ~--5q -

@ S = 16ab — b? @ S = 16ab — 2b?

® S = 16ab — 3b> @ S = 16ab — 4b>

® S = 16ab — 5b?



13. x yol TS AL ax+y =152 ax—by = b & 1T w9
457} (3, 3) L W, a+ b O S Fotolat

e =
-



14.

Sb g 253149 254 ot 50 A AHE] Q] £AE 4, &7 AL

0.7203 2]
“Fotod et

2~
447

oFel 100 WA Ae1o] 545 b2} 8w, a+b O] e

s
ct



15.

== B, x & ot

T

x o 1.46 & FofloF & AL 4
=l 271 0.46 ©] =]

% M
fx}

e
-




08 5 97 ghe A0 45 Fotolah,
A (=x)3xxy=-x3y
© (-4a®)+a+a=—4a
© 3ab+ax4b = 12b*
@ (6xy-3y)+(3y)=2x-1
@ -6a3b x 3ab + (2ab) = —9a*
YR 7




17.

o] Jm}
3x+by=15

& 2R3 2L W a+ b o) 3 Tt




18. 1252 +25°% & 7+45] Shojat.



19.

x=>5 2 & o, 5° -

A 6x ® 10x

5% + 5% & x of T3t

B 21x



20, x+T =1yl =1 9 ool @8 oelct

S EER
-



